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#7E . HORIBA PA—1000

HfI: uSv/h

EiEH : FR2943A29H (K)

o= F1hm (k) g2t m (BRdk) FE3M A ()
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIE BRI 14:07 14:11 13:55 13:59 13:45 13:49
HBIEE 0.079 0.081 0.078 0.073 0.065 0.074
HIEtE -0.011 0.004 -0.006 -0.003 -0.007 0.009

th = Fatth s (Rm) S5 (F) Foih = (FErmED)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I E BRI 13:35 13:39 13:25 13:29 13:15 13:19
HIEE 0.086 0.072 0.087 0.060 0.112 0.090
ATELE 0.004 0.005 0.006 -0.009 -0.009 -0.002

& F7H S (FERQ) FE8ith = (T (1EFT)) Fothm (B (EE))
AES 5cm 100cm 5cm 100cm 5cm 100cm
B BFZI 13:08 13:12 12:58 13:04 14:20 14:24
BIEE 0.128 0.095 0.156 0.100 0.093 0.068
ATEtE 0.005 0.010 0.002 0.002 -0.006 -0.001
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7 :HORIBA PA—1000

BGI: 4 Sv/h

B F29FE3H22H (K)

o= F1thm (dt) F2th s (3Rdk) 3t = (3R)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B ERFZ 14:11 14:15 14:00 14:04 13:49 13:53
HBIE B 0.090 0.077 0.084 0.076 0.072 0.065
AirE L 0.006 -0.005 -0.004 0.002 0.007 -0.001

o= Fatth s (Rm) FE5ih = (F) FEoth = (FErmD)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B EBFZI 13:39 13:43 13:29 13:33 13:20 13:24
BIE B 0.082 0.067 0.081 0.069 0.121 0.092
ATEEE -0.008 -0.007 -0.011 0.001 -0.011 0.010

& F7H = (FERQ) FE8tth = (T (IEFT)) Foh (T (EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I 7E BRI 13:13 13:17 13:01 13:05 14:25 14:29
BIEE 0.123 0.085 0.154 0.098 0.099 0.069
ATEltE -0.016 -0.012 0.010 0.001 0.000 -0.004




AR — R REEVRRLSGEMIBRICE T L ERBSRERERR
7% . HORIBA PA—1000

BGI: 4 Sv/h

B F29FE3A 138 (A)

o= F1thm (k) Fotth s (3Rdk) 3t = (3R)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B EBFZ 16:08 16:12 15:56 16:00 15:46 15:50
HBIE B 0.084 0.082 0.088 0.074 0.065 0.066
AiIE L -0.004 0.001 -0.004 0.001 -0.002 -0.005

= Fatth s (Rm) FE 5 (F) FEoth = (FErmD)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B EBFZI 15:36 15:40 15:27 15:31 15:18 15:22
BIE B 0.090 0.074 0.092 0.068 0.132 0.082
ATEEE 0.009 0.001 -0.001 0.000 0.012 -0.017

& F7H = (FERQ) FE8tth = (T (IEFT)) Foh (T (EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I 7E BRI 15:10 15:14 15:00 15:04 16:22 16:26
BIEE 0.139 0.097 0.144 0.097 0.099 0.073
ATEltE 0.002 0.000 -0.017 -0.001 0.011 0.005
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#7E . HORIBA PA—1000

HfI: uSv/h

EB /2943878 ()

o= F1hm (k) F 2t (3RIk) FE3M A ()
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIE BRI 14:20 14:24 14:08 14:12 13:57 14:01
HBIEfE 0.088 0.081 0.092 0.073 0.067 0.071
AIEtE 0.002 0.002 0.001 -0.011 0.004 0.008

th = Fatthm (Rm) 5 (F) Foih = (FErmED)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I E BRI 13:49 13:53 13:38 13:42 13:29 13:33
HIEE 0.081 0.073 0.093 0.068 0.120 0.099
ATELE -0.001 -0.003 -0.001 0.005 -0.004 0.010

& F7H = (FERQ) FE8ith = (T (1EFT)) Fom (B (EE))
AES 5cm 100cm 5cm 100cm 5cm 100cm
B 7 BFZ 13:22 13:26 13:10 13:14 14:34 14:38
BIEE 0.137 0.097 0.161 0.098 0.088 0.068
ATEtE 0.003 -0.005 0.013 0.005 -0.004 0.004




2K

e
mE -

b m

i
[RITS

T
Wedibalel1s be

LTl

VIrrar-a

nesn

= an

o/ /

[T

/

a3batn

akdy

manmar

LLXR

HaEway

v

rRE

14 My
——
14 8 1))

—
[ELL]

fa | e
thB) PARIC

% 88 ADIKA 1 Y

L

R

ED G b (X LR 5 0 T L




	28-houshanou-shikitikyoukai-
	３月（敷地） 

	処分場測定箇所図面
	syobunjyou-sokuteiichi.pdf
	syobunjyou1.pdf
	ichizu2.pdf






